Single Axis Robots RSD1 - Rod Type -

SINGLE AXIS ROBOT

(®See notes on CE Marking.B= P456

Actuator

S

Controller Specifications 25"P497~506

I Components: Actuator, Controller, Cable
Accessory

Controller I/O Specifications

NPN,PNP | CC-Link |  DeviceNet

Y Aocessry Instruction Manual (CD-ROM), Power Connector, Dummy Connector

- | CC-Link Connector [ DeviceNet Connector

Part Number Selection
Type Lead (mm) | With or w/o Brake ((%)1) | Motor Mounting Direction|  Controller ((%)2) 1/0 Module |Cable Length (m)| Stroke (mm)
06 Staight Leave blank| NPN: N 1
RSD1 None:Leave blank | RightSide Mount R |  Peint Controk C1 PNP: P 3 50~200
Included:B Left Side Mount: L Pl("[fgzcl&”i'%nz“ CC-Link: C 150 (50mm Increment)
12 Top mounting: U DeviceNet: D (Flexible Cable)

Cable lRobot Material / Surface Treatment
T Components Body Rod Cover
o [ (@ Material Aluminum Steel ABS
..||Il"" ; _ | B Surface Treatment |  Acrylic Paint - -
. I T Ml General Specifications
Controller (Straight) S AT LA Ball Motor Position Operating Ambient
: Screw Detector | Temperature, k idity
/ (Motor Left Side Mount) 8 Steonin Resalver 0~40°C, 35~85%RH
(C10 Rolled)| ©PPINg (No Condensation)

lIStandard Specifications FAQZE'P503

(Please specify as alterations)

Type Lead Positioning | Max Load Capacity (kg) | Max. Push Force | Rated Running Life| Lost Motion |RuNonfotionalAccuracy| ~ Stroke | Max. Velocity®)2 | Input Power | Maximum
yp (mm) | Repeatability (nm) | Horizontal | Vertical (N) ®1 (mm) (degrees) (mm) (mm/sec) Supply | Positioning Point
6 ~20 ~8 100 5,000km or 50~200 ~250 DC24V .
RSD1 12 +0.02 10 ) 75 More 0.1 or Less +1.0 (50 Pitch) 7500 +10% 255 points
(®)1.The Senvice life in the vertical use may vary depending on the load capacity. Please refer to the "Service Life Table." (2)2. The maximum velocities may vary depending on the load capacity. Please refer to the "Velocity - Maximum Load Capacity Table."
A
* 15
18 18
““I'Ag::; ;zzt’:‘im Lxggast;nn Hole for Ball Screw 9MB>(| 25 . . M8x1.25
"\\‘Q N [#] % e Motr =t~ ]
- # B pp——— = ey Stefore E
i J‘ Note 8] (5: Note &) ’v,_?r
M4x0.7 Depth 5 9.5 68.5 15 (37522 \ 7'"C|Uded Nut =
""'C"’“}'\m"v‘“e’;/‘rg' 4 Approx. 250 (Cable Length) Actuator Mounfing Foot Plate (2 pGs) \yiotorSteHome ] 35

(0.5)

56.5
10

389

+
L1
| ¢ /;E
Q)= T
M4x0.7 Depth 5 — - 5

- Ball Screw
Lubrication Point
y T30rHote

(for Cable Mounting) 10 ‘ La]
L
Actuator Mounting Foot Plate (2 pcs.) L+40 (with Brake)

(Please specify as alterations)
2.4

Motor Top Mount

E—— ] 4045 Through
= ° 03 ° ==
Y ] = & 338
® > (] L7
10| —H<33 3 e = 70 T
T Enlarged TS0tVieW g ot von P (75| ol ~
(6 pes. Included) Actuator Mounting Flange
Straight (Please specify as alterations)
128 (with Brake) Lubrication Hole for Ball Screw
88 56.5 See Note 5. 9.5 68.5 (065 (0.5)_ 385
Mrench Flats) o 22
48 11 (Wrnch Flts o=t
PR i u::* L[ Bl o :
b 029
EECAT Lubrication Hole for Ball Screw (06.5) 5 r ) —— b t
~ o ~ ) b 4-M3x0.5 Deptn 10
Gl 59l & /\ \: Lol 5|0 o " (90° Equal Spacing)
i
pr— —— O ' )
i B ] 7 T I= v[
See Note 5. Tl ‘ Tl | T 88 | I
95 68.5 (7: Note 8) 2 mkg, | | (7: Note 8) 48
L L5 oo e ] L 7552 56.5
4-M3x0.5 Depth 10
. 90° Equal Spacing)
Motor Right Side Mount Motor Left Side Mount
L 37.5+2
1115 fpgreemsm) | _(7: Note 8)
1= — - 56.5
L Note 1.Load can be applied only in axial direction. Please use externally mounted guides together to
Lol 48 " :
~ avoid application of radial loads on the rods.
21 Note 2.0rientation of the wrench flats is not fixed in relation to the base surface
\ [ o Note 3.In order to ensure running straightness, use externally mounted linear guides.
P I g Note 4.The cable should be fastened without excessive strains.
B > Mo1.25 * 0] Y E Note 5.The M4 hex-socket head screw can be utilized to fasten the cable (effective screw depth is 5mm).
- = 55 E=c—o—oc—c—o P - 13;3 T Note 6.The minimum bending radius of the cable is 30mm.
FIERIZT S
o Note 7.The brake adds 0.2kg to th 3
[ kD) T vl S o e g e s,
o e aurig. —-— ] 5 EavlSpacha TR Note 8.Indicates the distance to the mechanical stopper.

lDimensions / Mass

Motor M ing Direction: Straight Motor Mounting Direction: R/L/U
Type Di ions / Mass Stroke (mm) Stroke (mm)

50 100 150 200 50 100 150 200

L1 (mm) 161 211 261 311 161 211 261 311
L (mm] 249 299 349 399 204 254 304 354

RSD1 H (mm 2 3 4 5 2 3 4 5
K (mm 6 8 10 12 6 8 10 12

Mass (kg)(Note 7) 1.1 1.3 1.4 1.6 1.3 15 1.6 1.8

(®)The brake adds 0.2kg to the total mass.

(®1) Choose the "Brake" option for use in vertical applications. ((®)2) When the pulse train type controller is selected, the 1/

0 type selection is not required.

(Motor Mounting Direction: L)
(Motor Mounting Direction: Straight)

¢ Ordering |Part Number| - MathnunﬁngDirem‘ - ‘ Controller | = I/0Module‘ - ‘Cablebength‘ - ‘ Stroke ‘

Example RSD106B - L - - N - 3 - 200
RSD106B - - N - 3 - 200
RSD106B - L - P1 - 3 - 200

HRobot Body Price

(Motor Mounting Direction: L, Controller: P1)

Unit Price 1 ~ 3 pc(s).
Part Number Stroke (mm)
50 100 150 200
RSD1 ]
RSD1[ [ B

[l Controller Price Il Cable Price

Type | 1/0 Module |Unit Price 1 ~ 3 pc(s). Cable Length (m) |Unit Price 1 ~ 3 pc(s). A Note
N 1 Power interruption circuit is not provided in this controller in order to
c1 P 3 provide maximum flexibility for customer specific safety scheme.
(] 5 Please be sure to provide an external power interruption circuit and form
D 10 an stop circuit. For Circuit examples, see B="P503
P1 -

W Velocity - Maximum Load Capacity Table Wl Service Life Table ®Rated RunningLifeis 5,000km or more. Forthe
following types, however, service life varies depending
on its maximum load capacity, and how it is applied

- [ o] : “ (Lead 12)
00

22 \ - teﬂg ?2 1 =8 — Leads = 5000

= R = \ — Lead 12 < 4000

g 15 g6 \ | =

& 8 =

g 10 = A 3 3000

= \ = \ S 2000

5 2 N 3
| 1000 |- ——Lead 12
0
0 0 100 200 300 400 500 600 0 100 200 300 400 500 600 0 ;
Velocity (mm/s) Velocity (mm/s) 0 1 2 3 4
Load Capacity (kg)
Part Motor Mounting | _ | Controller 1/0 Cable
Alterations Number| " |  Direction |~ Type " | Type || Length |~ Stroke | - (G,E-etc.)
RSD1B - L - (o3] - N - 3 - 200 - G-E
Handset Terminal | HandsetTerminal | Support Software | Support Software |1/0 Cable Cable for daisy- | Instruction Manual | Main Body Plastic | Actuator Mounting | Actuator Mounting | Shaft Nozzle for
Standard Specification | w/ it w Cable | w/D-Sub chain connection | J5: Body Color Alterations | Foot Plate Flange Greasing
€ ; KJ3:Controller

Alterations s= — (9]

@ @ L KJ4:Controller —m

T: Controller C1 (@)
Commuicaon Speatins: RSZ2AC | Communicaion Spefeatons SZ32C | TP: Controller P1 Length: 300mm
Code H D S R T/TP C MJ5/KJ3/KJ4 BC HP VP N
Operation Manual
. Support Software | Support Software 1/0 Cable is Acable to connect | is included. .

Handset Terminal HandsetTermnal w/ w/USB w/ D-Sub included. Required | multiple controllers. | For Actuator Change the actuator | 2 plates are included | 1 plate is included UEDUSIE B
L Deadman's Switch is i . o " .| apply grease to the

Spec. is included. 5 Communication Communication for NPN/PNP Up to 16 controllers | MJ5: plastic parts color to | for horizontal mounting. | for vertical mounting.

Spofcases P, 507 | MC10EC- Cable is included. | Cable is included. figurati can be connected. | For Controller black SpecificationseerP507 | SpecificationsesP507 i et o
| oesfeainsesr P03, 507 | D€ IS Included. | Lable IS Include EEHIBTEAIL, 5 : " ’ " | motor mounted type.
P503, 507 P507 P507 P507 [KJ3:
KJ4:

Entering point data requires the handy terminal or the support software. ()An I/0 Cable is required for Parallel Communication I/0 Control.

For optional items, see P507 ()t is more economical to order the optional items as alterations than purchasing them individually.
@

For details on daisy-chain, see P505 (PPlease select the correct 1/0 cable type for the appropriate controller type.




